

GENERALIZED DERIVATION ON LIE IDEAL IN PRIME RINGS

M. Rais Khan¹, D. B. Ojha² and Mohd. Shadab^{2*}

¹*Jamia Millia Islamia, New Delhi, India*

²*Mewar university, Rajasthan, India*

(Received on: 20-05-13; Revised & Accepted on: 17-06-13)

ABSTRACT

Let R be a 2-torsion free prime ring and U be non zero Lie ideal of prime ring R and F be a generalized derivation satisfied any condition

(i) $F[x, y]=0$ (ii) $F(xoy)=0$, (iii) $F(x) o F(y)=0$, (iv) $[F(x), F(y)]=0$ for all $x, y \in U$ Then $U \subseteq Z(R)$.

Key Words: Prime Ring, Generalized Derivation, Lie ideal.

1. INTRODUCTION

Let R be an associative ring and $Z(R)$ denote the centre of ring R throughout the paper. For each $x, y \in R$, $[x, y]$ means $xy-yx$ and xoy means $xy+yx$. Recall that a ring R is prime if for any $a, b \in R$, $aRb = \{0\}$ implies that $a=0$ or $b=0$. An additive mapping $d:R \rightarrow R$ is called a derivation if $d(xy)=d(x)y+xd(y)$ for all $x, y \in R$. For a fixed $a \in R$, the mapping $d_a: R \rightarrow R$ defined by $d_a(x)=[a, x]$ is called inner derivation.

In [2], Bresar coined the concept of generalized derivation in 2006. Accordingly, An additive mapping $F: R \rightarrow R$ is called a generalized derivation if $F(xy)=F(x)y+xd(y)$ for all $x, y \in R$. It can be easily check that the concept of generalized derivation covered the concept of derivation as well as inner derivation.

Firstly, E.C. Posner shows the commutativity by the concept of derivation in prime ring, which states that the existence of a non zero centralizing derivation on a prime ring forces this ring to be commutative. Motivated by E.C. Posner, in [5], I.N. Herstein proved that if R is a ring with $\text{char}(R) \neq 2$ which has a nonzero derivation d such that $[d(x), d(y)]=0$ for all $x, y \in R$ then R is commutative. In [9], H.E. Bell and M.N. Daif studied derivation d satisfying $d([x, y])=0$ for all $x, y \in R$.

In [6,8], L. Oukhtite *et al.* generalized the some above result to σ -Lie ideal and σ -square closed Lie ideal in σ -prime rings.

A number of several authors in [11, 12, 1] extended the results in generalized derivation instead of derivation.

In this paper, we have established some results of [8, 10] in the case of generalized derivation instead of derivation.

2. PRELIMINARIES

Throughout the paper, we shall use some basic identities as follows:

$$Xo(yz)=(xoy)z - y[x, z]=y(xoz) + [x, y]z$$

$$(xy)oz=x(yoz) - [x, z]y=(xoz)y + x[y, z]$$

We shall use some known lemmas to prove our results:

Lemma 2.1: [1, 3.1] Let R be a 2-torsion free prime ring and U be a nonzero Lie ideal of R such that $u^2 \in U$. If R admits a nonzero generalized derivation F with d such that $[F(u), u]=0$ for all $u \in U$ and if $d \neq 0$ then $U \subseteq Z(R)$.

Corresponding author: Mohd. Shadab^{2*}

²*Mewar university, Rajasthan, India, E-mail: shadabmohd786@gmail.com*

Lemma 2.2: [7, 7] Let R be a 2-torsion free prime ring and U be a nonzero Lie ideal of R. If d is nonzero derivation of R such that $[u, d(u)] \in Z(R)$ for all $u \in U$ then $U \subseteq Z(R)$.

Lemma 2.3: [1, 2.6] Let R be a 2-torsion free prime ring and U be a nonzero Lie ideal of R. If d is nonzero derivation of R. If U is a commutative Lie ideal of R i.e. $[u, v] = 0$ for all $u, v \in U$ then $U \subseteq Z(R)$.

Lemma 2.4: [5, 5] Let R be a 2-torsion free prime ring and U be a nonzero Lie ideal of R. If d is nonzero derivation of R. If d is a nonzero derivation of R such that $d(U) = 0$ then $U \subseteq Z(R)$.

3. MAIN RESULTS

Theorem 3.1: Let R be a 2-torsion free prime ring and U be a nonzero Lie ideal of R. If d is nonzero derivation of R. If F be a nonzero generalized derivation with nonzero derivation d such that $F([x, y]) = 0$ for all $x, y \in U$ then $U \subseteq Z(R)$.

Proof: Let $x, y \in U$. Since $F([x, y]) = 0$ for all $x, y \in U$ (1)

This implies $F(xy) = F(yx)$ (2)

$F([x, y]z) = F(z[x, y])$ (3)

From $F(xy) = F(yx)$, we get

$[F(x), y] = [d(y), x]$ for all $x, y \in U$ (4)

Replacing y by y^2 in (4)

$[F(x), y] y = d(y) [y, x]$ (5)

Replacing x by xz in (5) – we obtain

$d(y)z[y, x] = 0$ for all $x, y, z \in U$ (6)

This implies $d(y) U[y, x] = 0$ for all $x, y \in U$ (7)

either $d(y) = 0$ for all $y \in U$

this implies $d(U) = 0$

Applying Lemma (2.3) we get

$U \subseteq Z(R)$

Or $[y, x] = 0$ for all $x, y \in U$

Then apply Lemma (2.2), we get

$U \subseteq Z(R)$.

Theorem 3.2: Let R be a 2-torsion free prime ring and U be a nonzero Lie ideal of R. If d is nonzero derivation of R. If F be a nonzero generalized derivation with nonzero derivation d such that $[F(x), F(y)] = 0$ for all $x, y \in U$ then $U \subseteq Z(R)$.

Proof: Let $[F(x), F(y)] = 0$ for all $x, y \in U$ (8)

Replacing x by xy in (8)

$[F(xy), F(y)] = 0$ for all $x, y \in U$

Which gives us

$F(x)[y, F(y)] + [x, F(y)]d(y) = 0$ for all $x, y \in U$ (9)

If we replace x by yz in (9), then we get

$$[y, F(y)]zd(y) = 0 \text{ for all } x, y, z \in U \tag{10}$$

Which implies

$$[y, F(y)] Ud(y) = 0 \text{ for all } y \in U \tag{11}$$

Which implies either

$$[y, F(y)] = 0 \text{ for all } y \in U \tag{12}$$

Then applying Lemma 2.1

$$U \subseteq Z(R)$$

Or

$$d(y) = 0 \text{ for all } y \in U.$$

which implies

$$d(U) = 0$$

Applying Lemma 2.4 we get

$$U \subseteq Z(R).$$

Theorem 3.3: Let R be a 2-torsion free prime ring and U be a nonzero Lie ideal of R . If d is nonzero derivation of R . If F be a nonzero generalized derivation with nonzero derivation d such that $F(xoy) = 0$ for all $x, y \in U$ then $U \subseteq Z(R)$.

Proof: $F(xoy) = 0$ for all $x, y \in U$ (13)

Replacing x by xy in (12)—

$$F(xyoy) = 0$$

Which implies

$$F(xoy) + x[y, y] = 0 \text{ for all } x, y \in U \tag{14}$$

Then we obtain

$$F((xoy)y) = 0 \text{ for all } x, y \in U \tag{15}$$

This implies –

$$F(xoy)y + (xoy)d(y) = 0 \tag{16}$$

Using (12), we get

$$(xoy)d(y) = 0 \text{ for all } x, y \in U \tag{17}$$

Replacing x by zx in (16)

$$(zxoy)d(y) = 0 \text{ for all } x, y, z \in U$$

$$(z(xoy) - [z, y]y)d(y) = 0 \text{ for all } x, y, z \in U \tag{18}$$

Using (16) we get

$$[z, y]yd(y) = 0 \text{ for all } z, y \in U$$

This implies

$$[z, y] U d(y) = 0 \text{ for all } z, y \in U \quad (19)$$

Then either

$$[z, y] = 0 \text{ for all } z, y \in U$$

Applying Lemma 2.3, we get

$$U \subseteq Z(R)$$

Or

$$d(y) = 0 \text{ for all } y \in U$$

then $d(U) = 0$

Applying Lemma 2.2 we get

$$U \subseteq Z(R).$$

Theorem 3.4: Let R be a 2-torsion free prime ring and U be a nonzero Lie ideal of R . If d is nonzero derivation of R . If F be a nonzero generalized derivation with nonzero derivation d such that $F(x) \circ F(y) = 0$ for all $x, y \in U$ then $U \subseteq Z(R)$.

Proof: Let $F(x) \circ F(y) = 0$ for all $x, y \in U$ (20)

Replacing y by xy in (19), we get

$$F(x) \circ F(xy) = 0 \text{ for all } x, y \in U$$

$$F(x) \circ (F(x)y + xd(y)) = 0 \text{ for all } x, y \in U \quad (21)$$

$$F(x) \cdot F(x)y + F(x)xd(y) + F(x)yF(x) + xd(y)F(x) = 0 \text{ for all } x, y \in U \quad (22)$$

We know—

$$F(x) \circ F(y) = 0 \text{ implies } F(x)F(y) = -F(y)F(x) \quad (23)$$

$$\text{And } d(y) \circ F(x) = 0 \text{ implies } d(y)F(x) = -F(x)d(y) \quad (24)$$

Using facts (22) and (23) in (21), we get—

$$-F(x)F(x)y + F(x)xd(y) + F(x)yF(x) - xF(x)d(y) = 0 \text{ for all } x, y \in U \quad (25)$$

This implies

$$F(x)[y, F(x)] + [F(x), x]d(y) = 0 \text{ for all } x, y \in U \quad (26)$$

Replacing y by y^2 in (25), we get

$$[F(x), x]yd(y) = 0 \text{ for all } x, y \in U$$

$$[F(x), x] U d(y) = 0 \text{ for all } x, y \in U$$

Then either

$$[F(x), x] = 0 \text{ for all } x \in U$$

Applying Lemma 2.1, we get

$$U \subseteq Z(R)$$

Or

$d(y) = 0$ for all $y \in U$

then $d(U) = 0$

Applying Lemma 2.4, we get—

$U \subseteq Z(R)$.

CONCLUSION

Let R be a 2-torsion free prime ring and U be a nonzero Lie ideal of R . If d is nonzero derivation of R . If F be a nonzero generalized derivation with nonzero derivation d such that satisfying any one condition:

(i) $F[x, y] = 0$ (ii) $[F(x), F(y)] = 0$ (iii) $F(xoy) = 0$ (iv) $F(x) \circ F(y)$ for all $x, y \in U$

Then $U \subseteq Z(R)$.

REFERENCES

1. Nadeem Ur Rehman, "on commutativity of rings with generalized derivation" Mathematical Journal of Okayama University, 44(2002).
2. M. Bresar, "on the distance of the composition of two derivation to generalized derivation", Glasgow Math Journal, 89-93.
3. E.C. Posner, "Derivation in prime rings" University Chicago Press -1976.
4. J. Bergen, I. N. Herstein and J.W. Kerr, "Lie ideals and derivations of prime rings", Journal of Algebra 71(1981) - 259-267.
5. I. N. Herstein, "Rings with involution", university Chicago Press", 1976.
6. I. Oukhtite, S, Salhi," On derivation in σ -prime rings", International Journal of Algebra,1-(2007).
7. R. Awtar, "Lie structure in prime rings with derivations", Publication Math, Debrecen-31(1984), 209-215.
8. L. Oukhtite, S.Salhi and L. Toufiq, "Commutativity conditions on derivations and lie ideals in σ -prime rings" ,14-2009.
9. H.E.Bell and M.N.Daif, "On derivations and commutativity in prime rings", Acta Math Hungar-66(1995)337-343.
10. M. Rais Khan, Deepa Arora and M. Ali Khan, "Remarks on derivations of σ -prime rings", international journal of Algebra, 4(2010) 761-767.
11. H. E. Bell and N. Rehman, "Generalized derivation with commutativity and anticommutativity conditions", Mathematical Journal of Okayama University, 49(2007).
12. S. Huang, "On generalized derivation of prime and semi prime rings", Taiwan Journal of Mathematics, -2012.

Source of support: Nil, Conflict of interest: None Declared